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Building Standards in Educational and Professional Testing

SAMPLE PAPER 

DATA MANAGER

ENGLISH
Complete the sentences by choosing the most appropriate option, from the given lettered choices (A to D) below each.

1. They ________ their home before it got dark.

A. reach

B. reaches

C. reaching

D. reached

Each question below consists of a related pair of words, followed by five lettered pairs of words. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair. 

2. ENZYME: CATALYST::

A. vaccine: allergy

B. bacterium: microbe

C. gland: muscle

D. vein: organ

E. neuron: corpuscle

3. HORNS: BULL::

A. mane: lion

B. wattles: turkey

C. antlers: stag

D. hoofs: horse

E. wings: eagle

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

4. TRANSIENT:

A. temporary

B. shining

C. dull

D. permanent

Questions 5-8 are based on the following passage.

Although the schooling of fish is a familiar form of animal social behavior, how the school is formed and maintained is only beginning to be understood in detail. It had been thought that each fish maintains its position chiefly by means of vision. Our work has shown that, as each fish maintains its position, the lateral line, an organ sensitive to transitory changes in water displacement, is as important as vision. In each species a fish has a "preferred" distance and angle from its nearest neighbor. The ideal separation and bearing, however, are not maintained rigidly. The result is a probabilistic arrangement that appears like a random aggregation. The tendency of the fish to remain at the preferred distance and angle, however, serves to maintain the structure. Each fish, having established its position, uses its eyes and its lateral lines simultaneously to measure the speed of all the other fish in the school. It then adjusts its own speed to match a weighted average that emphasizes the contribution of nearby fish.

5. According to the passage, the structure of a fish school is dependent upon which of the following?

A. rigidly formed random aggregations

B. the tendency of each fish to remain at a preferred distance from neighboring fish

C. measurements of a weighted average by individual fish

D. both B & C

6. The word “its” in the passage refers to the

A. school of fish

B. fish

C. organs

D. structure

7. The author of the passage believes that the structure of fish schools is maintained through

A. vision only

B. lateral lines only

C. the eyes and lateral lines simultaneously

D. an organ not yet discovered

8. The passage suggests that, after establishing its position in the school formation, an individual fish will subsequently

A. maintain its preferred position primarily by visual and auditory means

B. make continuous sensory readjustments to its position within the school

C. make unexpected shifts in position only if threatened by external danger

D. surrender its ability to make quick, instinctive judgments

QUANTITATIVE
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A. 1

B. 2

C. 4

D. 12

E. 16

10. If the sum of two numbers is 5 and the difference of the two numbers is 5, what is the product of the two numbers?

A. 0

B. 1

C. 5

D. 10

E. 25

11. What is the reciprocal of the sum of the reciprocals of 2 and 3?

A. 1/6

B. 1/5

C. 5/11

D. 5/6

E. 6/5

12. If the outer diameter of a metal pipe is 2.84 inches and the inner radius is 0.97 inches, the thickness of the metal in inches is?

A. 0.45

B. 0.90

C. 1.42

D. 1.94

E. 1.87
13. If a = b and 
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 = b, then c =?

A. a

B. -a

C. b

D. 
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E. –b

GENERAL KNOWLEDGE

14. What is the capital of Iceland?

A. Reykjavik

B. Vestmannaeyjar

C. Vilnius

D. Nuuk

15. What is ‘Hammas’?

A. A town of Jordan

B. A radical Palestine Group

C. President of Lebanon

D. None of the above

16. The microscope is used to study:

A. distant objects

B. new objects

C. large objects

D. small and near objects

17. Pakistan is located in which region of the world?

A. South Asia

B. South west Asia

C. Eastern Asia

D. West Asia

SUBJECT

18. Database modeling:
A. is achieved using an information flow diagram

B. is necessary to remove database anomalies through normalization

C. uses a dataflow diagram

D. is same as process modeling

19. What is a File?

A. A file is the collection of records.

B. A file is collection of database

C. A file is collection of columns

D. All of the above

20. What is functional dependency?

A. When value of one attribute is functionally dependent on the value of other non key attribute

B. When one attribute identify all other attributes


C. Function of an attribute

D. None of the above

ANSWER KEYS
	Q #.
	Right Choice

	1
	D

	2
	B

	3
	C

	4
	D

	5
	D

	6
	B

	7
	C

	8
	B

	9
	D

	10
	A

	11
	E

	12
	B

	13
	D

	14
	A

	15
	B

	16
	D

	17
	A

	18
	B

	19 
	A

	20
	A
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